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1 <Y 94 922 1.0 -0.6 5.0 -2.2 - - - 0.0 0.0 0.0

2 = 98 922 0.3 -2.8 4.9 -6.4 - - - 10.0 10.0 10.0

3 R 97 924 -4.3 -1.5 9.2 -4.4 - - - 0.0 10.0 0.0

4 55 97 925 1.8 0.1 7.9 -1.1 - - - 0.0 10.0 0.0

5 <Y 93 925 -0.3 -0.9 0.9 -2.1 - - - 0.5 10.5 0.5

6 g 97 925 0.1 -0.2 9.2 -0.9 - - - 1.0 11.5 1.0

7 = 99 923 0.3 -1.1 4.3 -1.4 - - - 3.0 14.5 3.0

8 = 99 924 0.1 -0.2 4.3 -1.8 - - - 10.0 24.5 10.0

9 Eh 99 925 0.8 -1.3 5.5 -3.1 - - - 10.0 345 10.0

10 g 99 925 1.0 0.4 8.8 -1.4 - - - 0.0 34.5 10.0
LEFEHE 97.2 924.0 0.1 -0.8 6.0 -25 - - - 35 45
11 <EY 99 923 0.3 -1.0 2.8 -1.3 - - — 0.0 34.5 8.0
12 Bh 81 924 1.0 -1.5 6.2 -2.7 — — - 0.0 345 4.0
13 <EY 93 924 0.8 2.7 10.1 0.1 - - - 0.0 34.5 2.0
14 = 99 922 0.5 -2.9 1.4 -3.3 - - - 3.0 37.5 3.0
15 Eh 99 921 -1.9 -0.6 2.1 -3.2 - - - 12.0 495 22.0
16 = 98 921 0.0 -1.3 0.8 -5.5 - - - 9.0 58.5 23.0
17 <Y 92 922 -3.3 -0.2 4.2 -4.9 - - - 2.0 60.5 15.0
18 £ 99 922 -25 -4.8 -0.4 -5.4 - - - 10.0 70.5 20.0
19 55 98 921 -4.3 —4.1 2.6 -4.9 - - - 23.0 93.5 38.0
20 <Y 97 920 -3.0 -2.4 0.9 -10.1 - - - 24.0 1175 42.0
haEHiE 95.5 922.0 -1.2 -1.6 3.1 -4.1 - - — 8.3 17.7
21 & 96 923 —6.8 -1.0 45 -7.1 - - - 21.0 1385 46.0
22 5] 99 921 0.5 0.5 5.4 -4.0 - - - 0.0 138.5 30.0
23 B 92 921 -3.0 -3.7 0.4 -6.7 - - - 1.0 139.5 20.0
24 E 99 920 -2.6 -1.6 0.5 -2.9 - - - 15.0 154.5 30.0
25 FS 99 920 -1.7 -2.8 -15 -4.2 - - - 50.0 204.5 60.0
26 £ 99 920 -2.4 -3.2 -0.9 -4.3 - - - 50.0 2545 90.0
27 £ 99 922 -2.2 -1.0 1.7 -9.0 - - - 10.0 264.5 90.0
28 TR 95 926 -8.3 -4.6 3.6 -8.8 - - - 0.5 265.0 80.0
29 £ 99 926 -0.8 -2.4 4.7 -8.7 - - - 15.0 280.0 70.0
30 £ 99 928 -2.9 -0.8 35 -35 - - - 37.0 317.0 100.0
31 <Y 99 926 -1.4 -2.0 0.1 -3.8 - - - 30.0 347.0 100.0
THFEHIE 97.7 923.0 -2.9 -2.1 2.0 -5.7 - - — 20.9 65.1
A¥EH 96.8 923.0 -1.4 -15 3.6 -4.2 - - - 11.2 30.2




SH4FE12ADRE. RE

12 AFRIOKF - F B8R DKUR
——5SUR(C) FHToks = UR(C) Fik8HEF

°Cc

AnxeRiE RERE

—a— KIESUR (°C)

o 150
C
40 100 &
" /\
50
A e RSV.VV AV
-20 .\v\/ ¥ 00 No—¥
-40 3 \“/ -50
60 x \/ -100
-80
04 -150
8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
-100 1 2 3 4 5 6 7 8 9 10 1" 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
ey =1
12ADRE=E
cm ‘ OFEEE (cm)
120.0
100.0
80.0 — —
60.0 HHHHE
40,0 HHHHHH
(] [l [l Oo0O I]
0.0 P .

112

13

14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

H




